VESSEL

Cost reduction for screw fastening & ecologically-friendly items Bit Holders/Short Bits

== ¢ 6.35™
Short Bit (For Bit Holder)

3-Flute Bit (For Bit Holder)

@Can be used by attaching to a bit holder.

@Can be used by attaching to a bit holder.
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&1x254 H &1 254 10 100 | 421231 * 4002 H T™W2 254 10 446412
$2x254 H &2 254 10 100 | 421241 *» 4004 H W4 254 10 446414
$3x 254 G &3 254 10 100 | 421242
=4x254 G =4 254 10 100 | 421251
©6 X254 G =6 254 10 100 | 421252 . .

H2 X 25.4 T o 254 110 ‘100 | 421260 \:¥:EE] Square Bits (For Bit Holder) .
H2.5%25.4 H H25 254 |10 100 | 421261 @®Can be used by attaching to a bit holder. ]
H3 x 25.4 H H3 254 |10 100 | 421262 =
H4 %333 H H4 333 |10 100 | 421263 2
H5 X333 H H5 333 10 100 | 421264 i o
H6 x 333 H H6 333 |10 100 | 421265 @ Do e %
. 8 @
254
Model Mo. Contents Set content lg?fl_r Céun:er EDP MNo.
B33 1,982, 3, 54, 56x254
Driver Bit Set 1 for each it e 1 10| 421270 o — —
TipxOverall Length (mn) Heat treatment classification Ctn. EDP No.
B33 1 for each| 12 25 3x254 1 10| 421271 :
Hex. Bit Set H 4, 5,6x33.3 with holder SQ1x25.4 (3001) H | 10 [ 487150
JM:kx} Short Bit (For Bit Holder)
H
@Can be used by attaching to a bit holder. “ ‘ 8 "
+ \N:Ek] Hex Bit (For Bit Holder)
@Can be used by attaching to a bit holder.
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Model No. ) "R EETS  Tip o o 1 L T EPN Model No. ¢ e3 E80en Tip 2 ST ECE NG
* 1001 H &$1 — = 254| 10 | 487105 » 3048/34 H H8 16 34 10 489105
» 3002R/25 H &2 6 12 — 25| 10 | 489003 « 3050/34 H H10 16 34 10 489106
= 1002 H &2 — — — 254| 10 | 487106
* 1002X X &2 — — — 254| 10 | 487502
* 5603/25 H &3x05 — — 11 25| 10 | 489061
« 5635/25 H &35x055t — — 11 25| 10 | 489678
= 1501 H ©476 X086t — — — 254 10 | 487120
* 1502 H ©556x102t — — — 254| 10 | 487121
= 1503 H €635%10/t — — — 254| 10 | 487122
« 1504 H &714x117t — — — 254/ 10 | 487123
= 1505 H ©8x127t — — — 254 10 | 487124
= 30325/25 H H25 3 45 11 25| 10 | 489052
* 21005 H H5 127 18 333| 10 | 487143
» 3034/25 H H4 475 6 11 25| 10 | 489054
= 3036/25 H HB — 8 — 25| 10 [ 482056
= 3038/25 H H8 — 10 — 25| 10 | 489057
* 3760/25 H BP H6 = — = S | akiGhlen




